” “ xn

133



134



135



moo @ >»

() M

I

w IO vozZzr X<« —

(x- 42 =5(y+1)’

G- 07 +6- )7 =[x+1
7y*+2x=0
7y>+2y+2x=0

7y> +2y+2x+1=0

[x+Y]
2

J2x? +2y® =|x- y-1
VX2 H(y+1)? =|y+1

7y* =0

7y* =1
3y?=x-5
3y? =-x*+1
2x? - 4x =5y +1
(x- 5 =3y
x =3y’ +y
y=3x*+1
y=3y*+1
y=3x"+x+1
y =3y’ +x+1

Jx+1)2+(y- 2% =

136



P,Q,R, S P,Q N
L
N Q P
F
R
S
NF NF Q,R,S
C
P________1_1__ C
Q. __ _ ___ > _1__ C
R________1_1__ C
S________1I_1__ C
N /| G

137



E
A B C D E
1 - Ay- 2% =7(x+1])
2 3x*-9y+1=0
3x+
3 Joryrre =2 3]1
4 X =5y* +2
5 1[X2 +y2 :—|3X+:y+q
6
7 5
8 4
C
B
A
L
L AB,C

138



90

160

160

20

90

20

139

160



140



X
0
r
A X=4/4-y? B y=+4-%° C x=4y? D y=4x*
X2 y2
E X=4/4- 4y? F y=,1-=— G x=,/1- = H y=44-4x°
4 4
2

141



moQO

=Sl S

(x- 4 =5(y+1)’

- 07 +6- y)* =|x+]
7y*+2x=0

7y? +2y+2x=0

7y? +2y+2x+1=0

Jx+1)2 +(y- 2)° _ x4y
2

J2x?+2y* =|x- y- 1
VX +(y+D)* =[y+]

7y? =0

7y? =1
3y?=x-5

3y =-x>+1

2x? - 4x =5y +1

142




N (x- 5?2 =3y
O x=3y*+y

P y=3x*+1

Q y=3y*+1

R y=3x*+x+1
S y=3y*+x+1

C L N F C
P,Q,R,S P,Q N
L
N Q P
F
R
S
NF NF Q,R,S
C
1 P /] C

143



N

0o N o O

Q_ _______1_1__ ¢
R________l_1__ C
S _______1_1__ C
N________l_d__ C
A B C D

A B C D E

- Ay- 2% =7(x+1])
3x*-9y+1=0

J(X+D)2 +(y +2)? :_|3X3+]1

X =5y* +2

iy =By

5

144



145



160

160

90

160

200

90

200

146



( )

147



148



